MATH 111 HOMEWORK 8 DUE THURSDAY, NOVEMBER 16TH

Qolutiony .

Name:

This assignment is worth 100 points. You will be awarded 40 points for attempting the entire assign-
ment (that is answer all problems). A random selection of problems will be graded for the remaining
G0 points. The space left between each question is indicative of how much work you should show. If
there are any problems you find particularly difficult, circle them in red. If there are any particolar
questions you would like feedback on, circle them in green. These are examples of questions that
might appear on an exam/quiz. If you use a calculator to help. make sure you can also do them
without it.
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2. Verify that f(z) and g{x) are both inverses of each other by, either, computing f(g(r)) and g{f(.r)} or finding the inverse
of one of them and showing it is equivalent to the other.

(@) fla)=272% +1, g(x) = l}m

3 ,_L3’ !
xj:?.‘?gf’-rl C(ﬁ(x)):Z?g(.ﬂ H's S(F(’m’:ﬁ F- )
1= 273 =27(3 Y1)+ =33 772w |
(4-)*z3x o =27 -5'-7(1-0-” = £ U770
__13__(%’|)V3::C = X-\ + 1 = ,‘._3-31
SNCIEERES) - -

(b} f(x)=In (é—x—?),g(:c):?c’i—ld cl)
Y=2e"+14 £ (9l0)= 1n(2960-T) 9(CE) =2e | +14
A e L !
zY-7:=¢€ of zin(e™=7- :Z(L‘x-‘])ﬂq
In(dy-7)=¢ = tnle”) :ac%\tt +\G
q () = ln(32-7) =2 =C
(€) F(r) = 374 g(x) = £ logy(3e)
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54 = logy (a)+ b of - _33‘0%3(3" Slegy(3:37)
- - | Sx
e e 43 Hloga (37
(‘:')—(1):5 v & :-\5—5;(_, =X
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Cont.
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3. In cach of the following, find f{g(x)) and simplify your enswer.

Ly L3
r—3 I =

() flz) =

‘ - | +3o¢ - =\
Fa=)) = (3(:\—3)' - ( ";z’* __3) _ ( 3;;: 3_—,:.)
o S8

b\
el (5‘6)

C(g(x)) =2¢

Answer:

(b) fz)=4r’+d2+ 1, g(x) =z +3

Olc) = (Zoe+)) 1
Pg(x) = (290 )= @l +) = (2 +7)

( -Zac-r?)'Z =F (5(&)\

Answer:

(€) flz) =9 +6x+1,g(x) =z -1

F(x) = (3oc+ 1)?' §
C(gaN) = (3ge)+ 1) = (3l

= (31—2>1

(e 2) = gx))

Answer:

Cont.
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4. Find f(g(x)) if f{x) = b*2 + 2br + 1 and g(x) = x + a. Simplify your answer.

O(x) = (bac rl)z
F(a6)) = (36) +1)° = (blaerer)x1)

= (o + b))

Answer:

A
£ (900) = (e +abn))

&3 + Jaz® + oz + ot
{x + by

5. Find the inverse of f(z) =

o 3o +200C +oo _ (cro)’
3 (oc+lo)3 (x+0)3

V= _ AN a _
4= S T2 (oYt e

206-368/3

Answer:

()= V-

The End.



